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Name: __________________________________


1
If A and B are positive acute angles, [image: image1.png]


, and [image: image2.png]cosB=



, what is the value of [image: image3.png]sin(A + )



?
	1)
	[image: image4.png]




	2)
	[image: image5.png]




	3)
	[image: image6.png]




	4)
	[image: image7.png]






2
If [image: image8.png]


, [image: image9.png]


, and x and y are acute angles, the value of [image: image10.png]cos(x - y)



 is
	1)
	[image: image11.png]




	2)
	[image: image12.png]




	3)
	[image: image13.png]




	4)
	[image: image14.png]






3
If [image: image15.png]sind =



, [image: image16.png]


, and angles A and B are acute angles, what is the value of [image: image17.png]cos(d - B)



?
	1)
	[image: image18.png]




	2)
	[image: image19.png]




	3)
	[image: image20.png]




	4)
	[image: image21.png]






4
If A and B are both acute angles, [image: image22.png]


 and [image: image23.png]inB =



, then [image: image24.png]sin(A4 — E)



 is
	1)
	[image: image25.png]




	2)
	[image: image26.png]




	3)
	[image: image27.png]




	4)
	[image: image28.png]






5
If [image: image29.png]


 and [image: image30.png]


, then [image: image31.png]sin(x — ¥)



 equals
	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	[image: image34.png]




	4)
	[image: image35.png]






6
Given angle A in Quadrant I with [image: image36.png]


 and angle B in Quadrant II with [image: image37.png]


, what is the value of [image: image38.png]cos(d - B)



?
	1)
	[image: image39.png]




	2)
	[image: image40.png]




	3)
	[image: image41.png]




	4)
	[image: image42.png]






7
If [image: image43.png]sind =



, [image: image44.png]


, and angles A and B are in Quadrant I, what is the value of [image: image45.png]sin(A + )



?
	1)
	[image: image46.png]




	2)
	[image: image47.png]




	3)
	[image: image48.png]




	4)
	[image: image49.png]






8
If [image: image50.png]


 and [image: image51.png]


, what is the value of [image: image52.png]tan(4 + B)



?
	1)
	[image: image53.png]




	2)
	[image: image54.png]




	3)
	[image: image55.png]




	4)
	[image: image56.png]






9
If [image: image57.png]


 and [image: image58.png]


, what is the value of [image: image59.png]tan(4 + B)



?
	1)
	[image: image60.png]




	2)
	[image: image61.png][=-]





	3)
	[image: image62.png]




	4)
	[image: image63.png]B







10
If [image: image64.png]


 and [image: image65.png]


 and angles A and B are in Quadrant I, find the value of [image: image66.png]tan(4 + B)



.

11
If [image: image67.png]


 and [image: image68.png]


, express [image: image69.png]tan(4 - B)



 as a fraction in simplest form.

12
When [image: image70.png]8
sing = ——

17



 and x lies in Quadrant III and [image: image71.png]


 and y lies in Quadrant II, what is [image: image72.png]cos(x - y)



?

13
Using the formula for [image: image73.png]cos(x - y)



, find the exact value of [image: image74.png]cos 15°



 in radical form if [image: image75.png]


 and [image: image76.png]


.

14
Express as a single fraction the exact value of [image: image77.png]sin 759



.

15
If [image: image78.png]


, where [image: image79.png]0° < x < 9(°



, find the value of [image: image80.png]cos(x + 180%)



.


1
ANS:
1
If [image: image81.png]


 and A is a positive acute angle, [image: image82.png]


.  If [image: image83.png]cosB=



 and B is a positive acute angle, [image: image84.png]inB =



.  [image: image85.png]e




REF:
060312b

2
ANS:
2
If [image: image86.png]


 and x is an acute angle, [image: image87.png]


.  If [image: image88.png]


 and y is an acute angle, [image: image89.png]


.  [image: image90.png]o= 22263
cos(x—y) = e = 22
N BT E TG



.
REF:
080316b

3
ANS:
4
REF:
018620siii

4
ANS:
1
REF:
069020siii

5
ANS:
4
REF:
089432siii

6
ANS:
1
[image: image91.png]cota-5)- (5 [-
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REF:
011214a2

7
ANS:
1
If [image: image92.png]sind =



 and angle A is in Quadrant I, [image: image93.png]cosd =



.  If [image: image94.png]


, and angle B is in Quadrant I, then [image: image95.png]tan® B+1=sec’ B
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 and [image: image96.png]cos” B+sin’ B=1

(%)1 +sin”




.  Then [image: image97.png]412 35 _63
D) T s



.
REF:
080409b

8
ANS:
4
REF:
069525siii

9
ANS:
4
REF:
010018siii

10
ANS:

[image: image98.png]23



  [image: image99.png]


   [image: image100.png]St



   [image: image101.png]



REF:
081037a2

11
ANS:

[image: image102.png]



REF:
088405siii

12
ANS:

[image: image103.png]



REF:
060141siii

13
ANS:

[image: image104.png]



REF:
089041siii

14
ANS:

[image: image105.png]sin(45 + 30) = sm45cos 30+
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REF:
061136a2

15
ANS:

[image: image106.png]


.  If [image: image107.png]


 and [image: image108.png]0° < x < 9(°



, then [image: image109.png]cos.




.  [image: image110.png]cos(4 + B) = cosxcos180° - sin xsin 130°

n-10





REF:
080126b


